softserve



SPEAKER

SERGE HAZIYEV

SoftServe's Advanced Technologies CTO

i 133 softserve



LET’S

18,000,000,000

16,000,000,000

14,000,000,000

12,000,000,000

10,000,000,000

8,000,000,000

6,000,000,000

4,000,000,000

2,000,000,000

QUIZ

Apple M1

- (5nm)

AMD Ryzen 9
(7 nm)

l AMD Ryzen 5

(14 nm)
Intel Core i7
. (45 nm)
Intel 4004 Intel 8086 Pentium
(10,000 nm) (3,000 nm) (800 nm) ,A/
e e -~ Jr— ’
1960 1970 1980 1990 2000 2010 2020

2030

softserve




MC AW

18,000,000,000

16,000,000,000

The number of transistors
per area doubles almost

every two years
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MOOI CAST
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WHY DO EXPON

Total Output

(Overall quality of work, total work created, etc.)

IENTS MATTER?

The Law of Diminishing Returns

Most

Productive
Input leads to
productive returns. It
pays to invest more
time and effort.

In this example, 75% of the
input from the first phase
yields about 15% the output

Each added input leads

to a decreasing rate of

output. It's best to stop

somewhere within this
phase.

Negative

Returns
Avoid this phase! Not
only to do you not get a
return for your effort,
you decrease your
overall output!

v

(Time, effort, resources invested)

Total Input
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ISRUPTIV
ECH BET:

(WHEN YOU KNOW THE TRAJECTORY)
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One will win who knows
when to fight and when &) %
not to fight. suN Tz
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STARTUP SU
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Timing

Source: Gross, B. (2019, November).
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Team/
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"The Single Biggest Reason Why Startups Succeed.

[Video]. TED Conferences.
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https://www.ted.com/talks/bill_gross_the_single_biggest_reason_why_start_ups_succeed​
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Oculus Quest 2
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Mobile GPU Performance (GFLOPS)
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DISRUPTIVE TE
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QUANTUM COMPUTING
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SOFTSERVE | WE SPECIALIZE IN |
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Al & ML ROBOTICS/ XR/AR/VR 10T R&D/ QUANTUM
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